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The test cell  is connected with  its positive terminal of the driving cell and the negative terminal of 
the  test cell  is connected  through a galvanometer  to  the  jockey  J. Let  the  jokey be passed at  the 
point P,  if the emf of the test cell C  is greater than the potential difference VB1P then current flows 
through the galvanometer wire CB1PGC. 

But if E > VB1P   current flows along CGPB1C. 

If E = VB1P no current flows through the galvanometer and galvanometer shows null deflection. 

Let i be the current flowing through the potentiometer wire by the driving cell. 

ρ =The resistance per unit length throughout the potentiometer wire. 

l= B1P = the length of the potentiometer wire up to the jockey at null deflection. 

Therefore the potential difference across the wire B1P  

                       VB1P =  iρl 

E = emf of the test cell. 

At null deflection E = iρl                    (1) 

(A) The current i flowing through the potentiometer wire can be measured by using  an ammeter in 
the potentiometer circuit.  

(B) The resistance of the entire potentiometer wire can be measured by a P.O box and dividing it by 
1000 we get ρ  

Thus knowing i, ρ, l we can calculate E. 
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